PRECALCULUS
RECTANGULAR COORDINATES

PRACTICE PROBLEMS 2
1. Find the slope of the line that passes through the points:

a. (3,4), (1,-2)

b. (6,0), (6,
[image: image1.wmf]3

)

c. (2,4), (-2,4)

2. Find the angle of inclination for:

a. (4,6), (1,3)
b. (2,3), (1,4)

c. (
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,2), (0,1)

3. Using slopes, demonstrate that the points are collinear:

a. (2,3), (-4,7), (5,8)

b. (4,1), (5,-2), (6,-5)

4. Demonstrate that the point (1,-2) is situated on the line that passes through the points (-5,1) and (7,-5) and is equidistant from them

5. Demonstrate that the points are vertices of a right triangle

a. (6,5), (1,3), (5,-7)

b. (3,2), (5,-4), (1,-2)

6. Find the interior angles of the triangles with vertices:

a. (3,2), (5,-2), (1,-2)

b. (4,2), (0,1), (6,-1)

7. Prove that the following triangles are isosceles by finding the interior angles

a. (3,2), (5,-4), (1,-2)

b. (8,2), (3,8), (-2,2)

8. The angle formed by the line that passes through (-4,5) and (3,y) with the line that passes through (-2,4) and (9,1) is 135°. Find y

9. Find the slope of the line that forms a 45° angle with the line that passes through the points (2,-1) and (5,3)

10. Find the area  of the polygons

a. (2,-3), (4,2), (-5,-2)

b. (-3,4), (6,2), (4,-3)

c. (-8,-2), (-4,-6), (-1,5)

11. Find the coordinates of the vertices of a triangle knowing that the coordinates of the midpoints of the sides are:

a. (-2,1), (5,2), (2,-3)



b. (3,2), (-1,2), (5,-4)
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